i/

HOSON

Operation Manudl

/H— 1000 BF T

Efficiency & Performance
Specialized & Creditable

AUTOMATIC FOLDER GLUER MACHINE



(10)

(9) (8) (7) ()

(s)

(4)

(3)

°eooo0°
000 ©ooO (1
5 /
I 000 000
n g , : 000 000 o o
o 40 o ° é
o ° o o o o M I@ \Q K ° @ \ L o A o
\ \
; D ¢ @ 5 3
\. N/ e
(12) 13) (18) (15) (16)
i Bearings 2 6006
6 Bearings Y FL205
16 Bearings b F206 5 Bearings P F205
15 Bearings i F206 L Bearings 2 6006
14 Bearings 7 F206 3 Bearings 7 6006
13 Bearings 7 F206 9 Bearings 7 F205
1?2 Bearings 7 F206 1 Bearings 7 6002
11 | Bearings 2| F206 Profacel  Name Quantity]  EETIAL | Remarks
Bearings
10-1 earing F206 Draw Date AUTOMATIC FOLDER
10 Bearings 6006 fCheck Date GLUER MACHINE
igures
9 Bearings 2 6 9 O 9 Shape Comparison | Weight ;l‘otal
= ZH1I000BFT-01
8 | Bearings 2 | F20s department |5y S




(5)

(6)

(&)

(7)

(8)

(3)

(2)

(1)

8 Connect piece 1?2
7 Stalk 6
6 Wheel gear 12

5_( | Inside card 5 D32
53 Screw 6 M10
5.7 | Bearings 6 6002RS
5_1 Tense round 6
5 Tense module 6
1, | Spring coil 8 GB97-96
(3 | Even mat 16 HO10X1.5
) Screw 8 m10
41 | Bearings 16 6200
Ly Paper round module 8
3.3 | Play mat 2L | ®0.9X5%31
3-7 | Screw 2L | wsx2o
3.1 | Bearings L8 626
3 Paper round module 2L
2.3 Outside card 5 ® 35
2.9 | Bearings 6 6907
2.1 Deliver leather belt &
? Spread move module &
1| Deliver leather belt | § 8X25X1000
I s P
praw pate AUTOMATIC FOLDER
Check GLUER MACHINE
figures Date
Comparison [ Weight | Total
feeF:j&:ﬁZrunit o <] AH1000BFT-02




(7

(8)

(6)

© .o ° ° A O
QU T B MMM AT 5
© o ©)
° ° @ ’ z@ 00 @ ° °
9
©) 0000 o) & 0900
(10) (1) B)
(14) (13) (12)

(2)

(&)

1L-3 Inside card 8

1,9 | Screw 8 M10

14_1 | Bearings 8 6000
1L | Synchronous take | 8

13-4 | Inside card ? D15

13-3 Outside card ? D32

13-2 Screw 7 M12

13-1 | Bearings 7 6002RS
13 | Synchronous take 7

12_3 | Outside card Ly D26

12-2 | Screw [, M10

12_1 | Bearings Ly 6000
12 | synchronous take | /

1-5 Inside card 7 b 32

M-t Outside card ? D15

1.3 Screw 7 M12

11_7 | Bearings A 6002RS

1o Wheel 2
11 | Synchronous take ?

10-3 | Outside card 2 D68

10-2 | Outside card ? D L5

10-1 | Bearings ? 69092
10 | Synchronous take ?

9.3 Play mat 10 2?2

9-2 Screw 10 m10

9-1 | Bearings 20 6900
9 Synchronous take 10

g_3 | Inside card 17 D19
8.7 Screw 12
g_1 | Bearings 2k 626
8 | Synchronous take L
7_1 Spring coil N D0. 9X5X31
7-3 | Even mat N HD6X1.5
7_7 | lron pillar N
7-1 | Bearings N 6267
b Synchronous take N
6.3 Play mat N GB97-96
6-2 | Bearings N M8X22
-1 |Synchronous take N 6087
£ | Synchronous take N
5-4 Inside card i D19
5.3 Screw i M6
5_p | Bearings L 626
5 Synchronous take )
I Leather belt 7 3X21X2900
3 Leather belt Vi 4X23X3100
2 Leather belt ? 3X23X2700
1 |Synchronous take 1 1422V340
Profacel  Name Quantity| Material | Remarks
Drav Pate AUTOMATIC FOLDER
fggﬁigs Date GLUER MACHINE
PI‘Sr;l:iﬂding Comparison | Weight i%il 7H-1000GD-03
page




3
) (6) (5) (4) (3)

(2)

HNO OPOPOOOOOOO © (0)©

] \ o
0000 @ 0000
(8) \\
(1)

(9) (10) 10-3 | Outside card 3 D68
10_7 | Outside card 3 P45
10-1 | Bearings 3 69092
10 | Synchronous take | 3
g_5 | Inside card 3 5
g_s | Outside card 3 32
9.3 | Screw 3 M12
9-7 | Bearings 6 6002RS
9_1 Wheel 3
9 | Synchronous take | 3
.3 | Inside card 15 22
8.7 | Screw 15 M10

8_1 Bearings 30 6900
8 Synchronous take 15
7-3 | Inside card 18 D19
7.7 | Screw 18 M6
7-1 | Bearings 36 626
7 | Synchronous take £
g Bearings 7
5_4 Spring coil N d0. 9X5X31
5.3 | Even mat N HO6X1.5
5_7 | lron pillar N D6X27
5_1 Bearings N 6267
5 Synchronous take N
L-3 Play mat N GB97-96
L_7 | Screw N M8
L_1 |Synchronous take N 6087
I, | Synchronous take N
3.4 Inside card 3 D19
3.3 Screw 3
3.7 | Bearings 3 626
3.1 | Wheel 3
3 Synchronous take 3
7 Leather belt 7 3X21X2720
1 Leather belt 7 4X23X3100
Prefacel  Name Quantity| Material = Remarks
praw pate AUTOMATIC FOLDER
fgggilgs Date GLUER MACHINE
Comparison [ Weight | Total
hosking uni S| ZH1000BFT-04




(2)

W
11_3 | Inside card 10 22
11_7 | Screw 10 M10
11-1 | Bearings 20 6900
13_5 | Inside card y) @15 11 | Wheel 10
131, | Outside card p) 32 10-3 | Screw L M10
13_3 | Screw 0 M12 10-72 | Inside card L D726
13-7 | Bearings 2 6002RS 101 | Bearings 8 6000
13_1 | Wheel 2 10 | Wheel L
13 | Synchronous take 2 9 Leather belt | ? 3X35X4350
19_3 | Inside card p) 68 6.3 | Inside card 2
19_7 | Outside card L LS 8.7 | Screw 2 M10
19_1 | Bearings 7 69092 8_1 | Bearings L 6000
7 | Synchronous take Vi g Wheel 2

7_7 | Inside card 8 P26
71 | Bearings 8 6000Z
7 Inclined round 8
6_3 | Inside card 12 D19
) Screw 17 M6
61 Bearings yan 626
6 Synchronous take Ly
5_4 | Spring coil N @ 0. 9X5X31
5_3 | Even mat N HP6X1.5
5_7 | Iron pillar N D6X27
5-1 | Bearings N 6267
5 | Synchronous take N
L3 Play mat N GB97-96
L7 Screw N M8
-1 | Bearings N 608
Ly Synchronous take N
3.4 | Inside card Y D19
3.3 Screw 2 M6
3.7 | Bearings In 626
31 | Vheel 2
3 Synchronous take Y
7 Leather belt 2 3X15X1950
1 Leather belt 2 4X30X4500
551?1 ace Name Quantity spggf‘gfci:‘gion Remarks
raw pate AUTOMATIC FOLDER
Check GLUER MACHINE
figures Date
Comparison | Weight [ Total
Folding unit ret | ZHI000BFT-05

Several
page




(7

(8)

(9

(11)

(12)

(3)

(2)

v

10-3 | Inside card ? D L5
10-2 | Bearings 2 6909
17 | Synchronous take
11| Leather belt || 1 | 4X25X1300
10-3 Inside card 7 D68
10-2 Outside card 7 D LS
10-1 | Bearings 2 69092
10 | Synchronous take|| 7
9_( | Inside card ? @10
9_3 | Outside card ? P26
9.7 Screw 7 M10
9-1 | Bearings L 6000
9 Synchronous take 7
8.3 Inside card 7 D26
8.7 Screw ? M10
8.1 Bearings Ly 6000
3 Wheel 72

7.3 | Inside card ) D26
7.9 | Screw 9 M10
7_1 Bearings 8 6000
7 Synchronous take 2
64 | Spring coil N @®0. 9X5X31
6-3 | Even mat N HP6X1.5
6_7 Iron pillar N
6_1 | Bearings N 6267
6 | Synchronous take N
5.3 Play mat N GB97-96
5-2 | Screw N NBX 22
5.1 Bearings N 6087
5 Synchronous take N
7 | Inside card 2 D68
L1 Bearings 2 69097
L, | Synchronous take Y)
3.4 Inside card ? D26
3.3 Screw 7 M10
3.7 Bearings L 6000z
5.1 | Wheet 2
3 Synchronous take 7
7 Leather belt 7 3X23X3100
1 Leather belt 7 4X23X2480
Prefacel  Name Quantity  Material | Remarks
praw pate AUTOMATIC FOLDER
fgggilgs Date GLUER MACHINE
Pressing [ LS 7141 000BFT-06
page




(8) (7) (6

&

}) S —)

/

/ —

(o

12)

/

/ L ]

«

17-1| Leather belt 1 3X500X2900
1?2 Leather belt 1 3X550X6370
1 Leather belt 1 3X550X5170
10 Leather belt 1 10X60X5370
9 Sponge leather belt 7 FB205
81 Bearings 1
8 | Stalk 2 1205
7.2 Inside card i
7.1 | Bearings 283 6002RS
7 Roller 14
6-1 Bearings 78 ®32
6 Stalk 28 6002RS
5.7 Inside card 14
5_1 Bearings 2 D62
5 | Sstalk 2 6206
-2 | Inside card 1
L1 Bearings 1 D22
L Roller 1
3.1 Inside card 1 D22
3 Bearings 7
2.1 Inside card 7 608
7 Bearings 7
1 Bearings 7 FA205
Prefacel  Nae Qantivy| ORI, | Renarks
Draw Date AUTOMATIC FOLDER
Iﬁjtg]ﬁflgb Date GLUER MACHINE
Clamping """ LW 1 741 000BFT-07
unit 1:20 Speg!




